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1. (10%) Explain how the competitive firm's short run demand curve for labor is derived.

2. (10%) What factors would cause an increase in the number of people wanting to attend
college? Please explain your answers.

3. (20%) What are the costs and benefits of on-the-job training to the employer and the
worker? Under what conditions will employers invest in job training? What is the
difference between general and specific training? Explain why employers would be
willing to pay for one kind but not the other.

4. (60%, 10% each) #25% 4 33

a. Compensating differential
b. Efficiency wage
c. Added-worker effect
d. Reservation wage
e. Marginal revenue product of labor
f.  Household production function
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(—) solidarity (7 4)
() fictitious commodity (7 43)

( =) social reproduction (6 43)
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(—) solidarity (7 43)

() fictitious commodity (7 43)
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. (10%) Explain how the competitive firm's short run demand curve for labor is derived.

Mo Ao o

(10%) What factors would cause an increase in the number of people wanting to attend
college? Please explain your answers.

(20%) What are the costs and benefits of on-the-job training to the employer and the
worker? Under what conditions will employers invest in job training? What is the
difference between general and specific training? Explain why employers would be
willing to pay for one kind but not the other,

. (60%, 10% each) ##5E 4% 35

Compensating differential
Efficiency wage

Added-worker effect

Reservation wage

Marginal revenue product of labor
Household production function
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. (10%) Explain how the competitive firm's short run demand curve for labor is derived.
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. (60%, 10% each) f2iZ % 3

(10%) What factors would cause an increase in the number of people wanting to attend
college? Please explain your answers.

(20%) What are the costs and benefits of on-the-job training to the employer and the
worker? Under what conditions will employers invest in job training? What is the
difference between general and specific training? Explain why employers would be
willing to pay for one kind but not the other.

Compensating differential
Efficiency wage

Added-worker effect

Reservation wage

Marginal revenue product of labor
Household production function
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(=) fictitious commddity (743)
(=) social reproduction (6 43)
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